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Ostwdatargb*, XYZxy, and LabC*h,y, in the CIELAB-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

Ostwdata rgb*, XYZxy, and LabC*hgy, in the CIELAB-colour space

Tristimulus values of black and whité;=0,0, YW 88 6
rgby LYy @y by Clhg Napg

Ostwdatargb*, XYZxy, and LabC*h,y, in the CIELAB-colour space

Tristimulus values of black and whitéy,=40,3 Yn=88,6 Ys=88,6.

Ostwdata rgb*, XYZxy, and LabC*hgy, in the CIELAB-colour space

Tristimulus values of black and whitéy,=40,3 YWn—88 6, Yns=88,6.
rgby LYy ayy bYy Clhg Napg
39

CIEXYZ data LabC*h,, data Ry10067 56 106 12161 ~o R CIEXYZ data LabC*h,, data Ry10082 28 20 3

rgbt Xy Yo & oxg Y (LY @y by Chyg hapg é‘;gig:g :1213?’;6 Egillg // 100 rgbt Xy Yo & oxg Y [Ly @y by Chyg hapg é‘;gigg% ;114 2:75 gz, 2;2
Ry [100 |55,28 36,99 0,67 0594 0,397 67,26 58,45 106,35 121635 Cq01177 -64-3171 205 G Ry (100 |68,44 60,47 44,26 0594 0,397 8209 2533 2097 32,89 C401186 -26 1530 210
Yo [110 [67.03 7265 112 0470 051p 8828 -243 13623 l3ems | (Sa0014° 6 283 274 ( 0 Yo [110 (7534 7090 4451 0470 0512 o164 -124 3716 37E | (S 001781 3334 272
Gy [010 [21,11 5787 1329 0228 0637 8066 -1138667.46 13280 | (0000 0 0 0 o0 \ Gy [010 |4982 7185 5114 0228 0637 8789 -44.68 2367 50882 | (‘000690 0 0 o
Cq [011|2891 5160 9579 0,163 0292 77,04 -6478 -3121 71,805 | |W,111950 0 O O a* Cq [011 |5407 6843 96,10 0,163 0292 8622 -2632 -1550 30,990 | |W,111950 0 0 O a*
By (0011626 15,93 9534 0,127 0124 4689 650 -82,89 83,244 t } t t By [001 (47,18 49,00 95,86 0,127 014 7545 169 -3399 34,G32
Mg 1016308 30,71 83,17 0,356 0178 62,26 9877 -47.87 10628 150 -100 Mg 101 |72,69 57,05 89,23 0,356 0178 80,21 4254 -2126 47,983 -150  -100
Ng [000]000 000 000 0333 033 008 001 001 0020 Ng [000 (3832 40,32 43,90 0,333 033 69,70 -001 001 00D
Wq [111 [84,21 88,60 9648 0,312 0,329 9541 0,00 000 00® o = 500 [WXDss) (Y/Vnas) ][1a] Wq[111 [84,21 88,60 9648 0,312 0,329 9541 0,00 000 00® o = 500 [WXDss) (Y/Vnas) ][1a]
N1,[0,00 [0,00 0,00 000 0333 033 008 001 001 0020 b* = 200 [(Y/Ynes) * 21 2059™] 28] N1,[0,00 3832 40,32 43,90 0,333 033 69,70 -001 001 00D b* = 200 [(Y/Ynes) * 212059 ] 28]
W141,13 [95,05 100,01108,300,313 0,339 100,00 -0,00 037 0,380 Crp= (a2 +b+2105 3] W141,13 [90,12 94,81 102,920,313 0339 97,96 -0,00 020 0,280 Crp= (a2 +b+2105 (3]
714]0,18 [17,10 17,99 19,49 0,313 0,329 4948 002 020 02®2 oy = atan [b* /a* ] [aa] 714]0,18 |47,64 50,12 5452 0,313 0,329 76,14 -0,00 006 0,0®1 oy = atan [b* /a* ] [aa]
BEE60-1N BEE60-2N BEE61-1N BEE61-2N

Ostwdatargb*, XYZxy, and L*ABCh 5g in L*ABJND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

Ostwdata rgb*, XYZxy, and L*ABCh pg in L*ABJND-colour space

Tristimulus values of black and whitégy=0,0, Y,y=88,6
1905 L5 Ay By Giga Masa B

Ostwdatargb*, XYZxy, and L*ABCh 5g in L*ABJND-colour space

Tristimulus values of black and whitéy,=40,3 Ywn=88,6 Yvs=88,6.

Ostwdata rgb*, XYZxy, and L*ABCh pg in L*ABJND-colour space

Tristimulus values of black and whitéy,=40,3 Yiwn=88,6, Yya=88,6.
1905 L5 Ay By Giga Masa B

CIEXYZ data L*ABCh 55 data 5‘11?8:; 5§ 3? g‘l‘ 3‘2‘ CIEXYZ data L*ABCh 55 data 5‘11?83 2? ;g gg 3‘2‘
rgb* Y, X LY h a - rgb* Y, X L h d -
WX e A X4 Ve d God Msa G401080 -89 45 100152 100 X e A X4 Ve d God Msa G401087 -4824 54 152
Ry [100 (5528 36,99 0,67 0,594 0,397 67,26 52,93 3637 64,2 Cq01177 -52-36 64 214 Ry [100 (68,44 60,47 44226 0594 0397 82,09 28,84 19,82 3508 Cq01186 -28-1935 214
By00146 2 -7171 272 By00175 1 -3939 272
Yo [110 |67,93 72,65 1,12 0479 051 28 -293 7161 71, d Yq [110 |7534 79,90 44,51 0,479 0512 9164 -1, X X d
4 |110 (67,93 7265 112 0479 051p 8828 -293 716 & M.10162 89 _a5 100342 4 110 (7534 79,90 44,51 0,479 0512 91,6 60 39,03 39,02 10180 48 2454 32
Gy [010 |2111 57,67 13.29 0,228 0677 8066 -89.15 4566 100152 | |N‘0000 0 0 o0 © Gy [010 |4982 71,85 51,14 0,228 0677 6789 -4858 2489 54382 | |\“500600 0 0 0
Cq |011]2891 51,60 9579 0,163 0292 77,04 -52,96 -36,36 64,244 | |W 111950 0 0 O Cq |011]5407 6843 96,10 0,163 0292 86,22 -2886 -19,81 35@14 | |W 111950 0 0 O
By (0011626 15,93 9534 0,127 0124 4689 293 -7161 71,@72 t By (001 (47,18 49,00 95,86 0,127 0124 7545 159 -39,02 39,052
Mg [101 (63,08 30,71 8317 0356 0,173 6226 89,12 -4566 100382 150 Mg [101 (72,69 57,05 89,23 0356 0,173 8021 4856 -24,88 54,82 150
Ng [000]000 000 000 0333 0338 008 000 000 0,000 Ng [000 (3832 40,32 43,90 0,333 033 69,70 -001 000 00D
Wq[111 [84,21 88,60 9648 0,312 0,329 9541 0,00 000 00® A= 250 K/ Xogs— Y I Yogs] (1] Wq [111 84,21 88,60 9648 0312 0,379 9541 000 000 00® A=250 K/ Xpgs— Y/ Yoes] [1b]
N1,[0,00 [0,00 0,00 000 0333 033 008 000 000 0,000 B=100/Ypge-Z/Zpgs] [2b] N14[0,00 38,32 40,32 4390 0333 0,333 69,70 -001 000 00D B=100 Y/ Ypgs ~Z / Zpgs] [2b]
w1113 [95,05 100,01108,300,313 0349 10000 -000 055 0,580 Cao = [AZ+B210S [3b] W141,13 [90,12 94,81 102,920,313 0329 97,96 -0,00 030 0,380 Cas = [AZ+B2]08 13b] -100
71,{0,18 [17,10 17,99 1949 0,313 0,329 4948 001 009 0082 has = atan [B/A] [4b] 71,|0,18 |47,64 50,12 54,52 0,313 0,320 7614 -0,00 005 0031 has = atan [B/A] [4b]
BEE60-3N BEE60-4N BEE61-3N BEE61-4N

Ostwdatargb*, XYZxy, and L*ABCh pg; in L*AB1IND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

Ostwdata rgb*, XYZxy, and L*ABCh ag; in L*AB1JND-colour space

Tristimulus values of black and whitég=0,0, Y,y=88,6
1gb% Ly Ayg By g GgraMasra B

Ostwdatargb*, XYZxy, and L*ABCh pg; in L*AB1IND-colour space

Tristimulus values of black and whitéy,=40,3 Yywn=88.6 Yy4=88,6.

Ostwdata rgb*, XYZxy, and L*ABCh ag; in L*AB1JND-colour space

Tristimulus values of black and whitéy,=40,3 Yiyn=88,6, Yya=88,6.
1gb% Ly Ay g By g GgraMasra B

CIEXYZ data L*ABCh 55, data 5"1?3?2 fg 3? 33 32 CIEXYZ data L*ABCh 55, data 5"1?33? ig i; i; 32
rgb* Y, X, L% h d rgb* Y, X, L h d
) X (R 4 Ya d Ad By Geid Masig 6401080 -6149 79 141 Y00 ) X (R 4 Ya d Ad By Geid Masig G,01087 -3327 43 141
Ry [100 |5528 36,99 067 0594 0397 67,26 5567 39,60 68,35 Cq01177 -55-3968 215 Ry [100 |68,44 60,47 44,26 0594 0,397 82,09 3033 2159 37,35 C401186 -30-2137 215
By 00146 -18 77 80 256 By 00175 -10 -42 43 256
Yy [110 67,93 72,65 1,12 0479 051 88,28 1896 77,99 80,76 a Yy [110 (7534 79,90 44,51 0,479 0512 91,64 1033 42,50 43,76 a
Gd 010 |2111 57,67 1329 0,228 oszi 80,66 6174 4973 7981 | |Mai0162 61 ~4979 S21 Gd 010 (49,82 71,85 51,14 0,228 06;7 87,80 -3364 27,10 43ap1 | |Mei0180 33 ~2743 S21
d 3 f , . 2 3 —61, i g Ng0000 0 0 0 O d g g g 8 g § e i g Nyg00069 0 0 0 0
Cq [011(28,91 51,60 9579 0,163 0,292 7704 -5569 -39,60 68,335 | (W,111950 0 0 O A1 Cq [011 (54,07 68,43 96,10 0,163 0,292 86,22 -30,35 -21,57 37.245 | [W,111950 0 0 0 Ar
By |001 (16,26 1593 9534 0,127 0,124 46,89 -18,96 -77,98 80,256 ay=ay [ (x=x.) /¥ + + By |001 (47,18 49,00 9586 0,127 0,124 7545 -10,33 -42,49 43,286 3y =ay [ (x=x.) /Y
Mgy 101 63,08 30,71 83,17 0,356 0,173 6226 61,72 -49,72 79,281 by =by[z/y -150 100 Mg [101 |72,69 57,05 89,23 0,356 0,173 80,21 33,63 -27,09 43,821 by =by[z/y -150
Ny |000 {000 000 000 0333 0338 008 000 000 0,000 :70_111%‘]5; ’_01"000 Ny |000 (3832 40,32 43,90 0,333 0,333 69,70 -0,00 000 00D :20—_0111%05 ’01"000
Wy (111 (84,21 88,60 9648 0,312 0,329 9541 0,00 000 0,0 =25 a“)v 1] Wy (111 (84,21 88,60 9648 0,312 0,329 9541 000 000 0,0 A1:2551—a1n)"( 19
N1,[0,00 [0,00 000 000 0333 033 008 000 000 0,000 B, =258, (b~ by ) Y [2¢] N1,[0,00 3832 40,32 43,90 0,333 0333 6970 -0,00 000 00D B, =258, (b~ by ) Y [2¢]
W141,13 [95,05 100,01108,300,313 0,339 100,00 0,16 0,60 0,675 CA51=[Af+Bf]°‘5 3d W11,13 (90,12 94,81 102,920,313 0,339 9796 008 033 0344 Cpgr = [AZ+B2105 3¢] -100
714(0,18 (17,10 17,99 19,49 0,313 0,329 49,48 003 010 0,159 hagy = atan [B, /A, ] [4c] 714|018 (47,64 50,12 54,52 0,313 0,329 76,14 001 006 0,066 hpgy = atan [B, /A, ] [4c]
BEE60-5N BEE60-6N BEE61-5N BEE61-6N

Ostwdatargb*, XYZxy, and L*ABCh 5g, in L*AB2JND-colour space

Tristimulus values of black and whitéy=0,0, Y\y=88,6

Ostwdata rgb*, XYZxy, and L*ABCh ag> in L*AB2JND-colour space

Tristimulus values of black and whité=0,0, Y,y=88,6

Ostwdatargb*, XYZxy, and L*ABCh 5g, in L*AB2JND-colour space

Tristimulus values of black and whitéy,=40,3 Y\wn=88,6 Yyws=88,6.

Ostwdata rgb*, XYZxy, and L*ABCh ag> in L*AB2JND-colour space

Tristimulus values of black and whitéy,=40,3 Yyn=88,6, ¥ya=88,6.

rgbyg Ly AdezucAszuhAazd B rgbyg Ly AdezucAszuhAazd B
CIEXYZ data L*ABCh g, data snigggg 28 pS 65 73 2 CIEXYZ data L*ABCh g, data 5“1?83 io - 35 73 2
gbt Xy Y9 4 X Ya Ly Ad Ba  Gead Masad GZOlOBO Z6139 73 147 100 gbt Xy Y9 4 Xg Vg Ly Ad Ba  Gead Masad G:01057 Z3321 40 147 1100
Ry [100 (5528 36,99 0,67 0,594 0,397 67,26 5567 3168 64,08 Cq01177 -55-3164 209 Ry [100 (68,44 60,47 4426 0594 0397 8209 30,33 17,27 342D Cq01186 -30-1734 209
Yy [110 |67.03 72,65 112 0479 051 8828 18,96 6239 6578 zudggigg lo-6265 253 Yo [110 [7534 79,90 4451 0479 0512 91,64 1033 3400 3558 zddggigg s s
Gy [010 (21,11 57,87 1329 0,228 0,627 80,66 -61,74 39,78 73487 | [\%0000 0 0 0 O Gy [010 (49,82 71,85 51,14 0228 0,627 87,89 -33,64 21,68 40037 | [\“000690 0 0 O
'd 'd
Cq [011(28,91 51,60 9579 0163 0,292 77,04 -5569 -31,68 64,809 | (W,111950 0 0 O Ao Cq [011 (54,07 68,43 96,10 0,163 0,292 86,22 -30,35 -17,26 34989 | (W,111950 0 0 O
By |[001 (16,26 1593 9534 0,127 0,124 46,89 -1896 -62,38 65,233 8, =ay,[(x=x%;) /% + t By |001 (47,18 49,00 9586 0,127 0,124 7545 -10,33 -33,99 35333 8, =ay,[(x=x;) /%
My |101 (6308 30,71 83,17 0356 0,173 62,26 61,72 -39,78 73427 | |P2=Pal2/¥ -150 100 My |101 (72,69 57,05 89,23 0,356 0,173 80,21 33,63 -21,67 40,827 | |P2=Paol2/}
Ng [000{0,00 000 000 0333 0338 008 000 000 0,000 :20:7011%05; _:064500 Ng [000 (38,32 40,32 4390 0,333 0,333 69,70 -0,00 0,00 0,00 :20:7011%05; _:064500
Wy (111 (84,21 88,60 96,48 0,312 0,329 9541 0,00 000 0,00 N ’256;*22,‘)"/ [ Wy (111 (84,21 88,60 96,48 0,312 0,329 9541 0,00 000 0,00 N ’2'56;*22,‘)"/
2= 2, : 2= & .
N14[0,00 [0,00 000 000 0333 0338 008 000 000 0,000 B, =258, (b, -b, ) Y [2d] N1,[0,00 38,32 40,32 43,90 0,333 0,333 69,70 -0,00 0,00 0,00 B, =258, (b, -b, ) Y [2d]
W141,13 (95,05 100,01108,300,313 0,339 100,00 0,16 048 0,571 Cpsz = [A2 +B2]0 3] W141,13 (90,12 94,81 102,920,313 0,379 97,96 008 026 0,271 Cpsz = [A2 +B2]0 3d] ~+-100
714]0,18 (17,10 17,99 19,49 0,313 0,329 49,48 003 008 0,054 hag = atan [B, /A, | [4d] 714|018 (47,64 50,12 54,52 0,313 0,329 76,14 001 005 0,052 hagz = atan [B, / A, ] [4d]
BEE60-7N BEE60-8N BEE61-7N BEE61-8N

TUB-test chart BEEG6; Affine colour metric for four colour spaces input:rgb/cmy0 (No 1MR)
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Yl=9p02

Ostwdatargb*, XYZ, and LCh 3 reflectionYn=0 & YNn=40,32,Y\y=88,6, adaptatioyy;=88,6.
C M Y (o] L Vv
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